< Fotran Programming Short Suggestion 2022 >

Honours 2° Year

o). Difference between DOS and Windows .  [NUH-2007]

oX. Distinguish between RAM and ROM .

09, High Level Language R4l 8 SRl | [NUH-2004,10,18]

08. Rules for writing Fortran Variable Name [Fortran OiS¥ 5e/% ferdisr fas] 1« [NUH-2013]

o€, Difference between fixed point constant and floating point [fZ% {7 &% ¥R SN
R 77 97 g ALy ] [NUH-2015]

oY, Difference between variables and constants [651F R &3¢ 99 N0 ALH] |
04, IF Statement It T [NUH-2011,12,21]

obr, Difference between Algorithm and Flowchart |

08, 1-243 -..- 100 [1-2+3 -...- 100 KA @AFa T v Wb wWeaifTwy 8 GFIoiE ot F4
@< O Fortran ¢ AT T

o, @35 TN B} @R O G GFIBIET NGW AF™ I A GFO Al 2T @R 37
g fo 1t IR +¥961 [NUH-2018]

3. Ax? + Bx + C = 0 faqI® TS 7 T (R T &9 G0 WA 8 GG todt 91
[NUH-08, 10, 11, 12, 17,21 ]

R, ¢F & g «Afamed Bt @b e HeEd AR & A=A | Soooo B A ©F I AN
I A% A (A 432 Soooo B @ T % I 1 W e «=fB vt =i @R
@6 FRA catar B [NUH-16 ]

so, @5 GFIfIMT @R 3B FORTRAN el &, q 100 ST Faew F3a GG oAt
R T 7 w | fores T3 [NUH-2004, 2018]




18, fafER® eteflm TGt =i 2]
(i) -.000568 (ii) 56.345E-03 (iii) 36789 (iv) -456.789 [NUH-2021]
s¢. RIS (Fd J, K 99 L 9T I @F 9 |

(i READ (5, 11) J, K, L (ii) READ (5, 12) J, K, L (iii) READ(5, 13) J, K, L
11 FORMAT(14, 13, 18) 12 FORMAT(13, 2X, 16, 3X, 13) 13 FORMAT(216, 12)

SV, Suppose three data cards are punched as follows: [NUH-2021]
First card: 22.2 3.33 444

Second card: 555 666 77.77

Third card : 8.888 9.99

Find the values assigned to the variables if the following are executed :
(i) READ*, A, B (ii) READ*, A, B, J, K

READ* J, K, X,Y READ* X, Y

Q. WY 9 L = 123456, M 789, A B = 678-999 fafeiReete itz wiwer e <4] [NUH-2003]

(@) WRITE(6, 99) L, M, A, B
99 FORMAT(1X, I8, 2X, 17, 2X, 2(F8.3, 2X)) [NUH-17]
(ii) WRITE(6, 88) A, B, L, M
88 FORMAT('1', E12.2 // 1X, E12.2 /// 1X, 2(I6, 4X)) [NUH-17]

(iif) WRITE(6, 77) L, M, A, B
77 FORMAT('1', 8X, The values are '/1X.218, 2F10.2) [NUH-2017]

St 1+3+5+,..+ 99 YIRIGT @FA ey Ta &y @3B @R caltas B9 1+ [NUH-2021]
55, Gfe cellal B At @B AFTRYI N @7 T #%es @R Q=T QAT @7 I

1%42%43% +4% + . + N2 [NUH-2016]

0. @5 (A o Tt @FfS i et N 97 W T g @ @@ TR

142%43%4% + L+ N°

2. e q=ifba @ores IIRRT 99 &0 FEEF oRw It (2 e

2

100>-99%+98° -... - 1% [NUH-2006, 2015]




22, BIF Wi ZF A 1 + x + X2 + .. + X 46T @IF AT 99 & @B Fortran program Rt
[NUH-2000, 2017]

g0 1:3.5, 2. now om offe qmifba e fdftr @B FORTRAN Program ¥ |]

3 7 11
[NUH-2012]
8. A miw g afe 2. 2. 2. 2 a1 W ffem o eREe @ caar Fra
[NUH-2016,2021]
3¢, Fem qRifbe wdwe MR o) @t @REM et ot 7] 1. 2. 3% 4°. ... M (Using Do loop).

[NUH-2000, 2017]

Q. @36 REE catia i Tt 7w Rerwy Rt Ie® 100 97 Tovd 7w g Reate Aoy
ot [NUH-2010]

29, WA FA X, ¥, z G t GF FIA] x = t-8t+4 ; y = sint + cos2t; z = e
[NUH-2005, 2009, 2011, 2015]
@6 cata F 2 t @ AR @R t, x, y, z A% TR

b, Mr. Rich #if5 I=CR & 50,000.00 B3t G e 517 | 96 @R AHTE 20% @ 7 WA
17%%%@%%2{6 (R 93T cefiei 71 Mr., Rich & T<F8 IR @R fT® ARV T4

[NUH-2015]

3. Using the arithmetic statement function f(r, s, t) = r* + s’-t> to write a Fortran program
segment to compute each of the following [NUH-2010, 2016]

0o, y = 2x’-3x-5 faqre A exefd f<RI51 91 WHILE COHET0 T 6 0.5 4Tt x = 4 S 4 WAR
TY y 99 9 @ 9| [NUH-2007] .

©s, e T W AR =0 3% Fortran celfaim &) [NUH-2012]

0if [TM]x < 2
fx) =<3x2—2x + 4if [TMA]x = 2
(3x2 + 2xtif [T x > 2
02, n MYF A Xy, X, X3, Xy G G0 (6 3o 91 AT 2T (A.M), I997 (VAR) @3 &5fers
4 (5.0) et Feify :




(@) Arithmetic mean (A.M) = % Yiix = % (X1 +x2 +x3++x,)

(ii) Variance (VAR) = % nox?— (A.M)?

(iii)  Standard deviation (S.D) = VVAR

Write a Fortran program to calculate the A.M, VAR, and SD is defined above. BART R
TG AM, VAR @3R S.D o7l FAF & 3B Fortran cAla 4]  [NUH-2016,2019]

00, G3f6 Fortran (2t &2 Tt 7236 n x m &7 @ 1®s1 @37 1 [NUH-2021]

©8, Y5 IfEH A ¥R B (NS TR [ JAHCH 3 x 4 GR 4 x 5 NAF 1 € = AB N wep @3l
Fortran Program 1% [NUH-2007]

©¢, SUBROUTINE, SUBPROGRAM g fAmsy [NUH-2021]
©U, Function ACAIET € Subroutine JRCLIANTTT TG AL | [NUH-2009,14,2020]
0q, ¢35 ey EfaE AT & @Ph FUNCTION AR-CRidiN (18 | [NUH-2014,21]

ob, foqb JBeF TGt L, M, N 9 W0 TR I8 7eift @ar et foafba @ kg s
T G0 A6 TRt &), [NUH-2005, 2009, 2011, 2015]

b, NG (A T K 9F Foie T F97] [NUH-2006, 2010, 2014]

K=5

I=3

J=125

M=I*100 + J* 10
K=M/100+K

8o, TR 3(fe FIRGM (AN 77 QST %7 M 97 oIS TF F© W@ ©f {6 F7]  [NUH-10, 17]
M=3

K=2

DO10]J=4,9K

IF(J.EQ. 6)

GOTO 10 M=M+2*]

10 CONTINUE

M=3*M

STOP

END




